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A poll iz taken amang peocple working in Paltna. The am was Lo sae whal ther annual salarias
AR

lannual Salary
Less than 40000
40001 1o 75000 1440
T5001 to 150000 (1860
150001 to 250000|2576
More than 2500003864

Number of paople
260

M you choose a parson at random from this group, what is the probability that he or she earns
mare than 75000 annually?

Thara are 4 badges balonging to 4 students. Thea badges wera pul into a box, and aach studant
pulls aut an badge ona altar the othar. What is the probability that each student gets his or hear
own badge?

Find the arithmetic mean of the following data.

Marks MNMumber of Students
Less than 10 22
Less than 20 42
Less thamn 30 =1%]
Less than 40 TE
Less than S50 100

Two dice are rolled. What s the probability that tha two numbers add up Lo a primea numbear?

From among a group of 5 mean, 4 womean and 6 children, 4 individuals are selected randomiy.
What is the probability that exactly 1 among the chosen are children?

A bag contains 2 red balls, 3 blua balls, and 10 grean balls. Balvindar draws 2 balls cul of the
bag. Whalt is the probability that he gels a green ball and a red ball?

3 coins are lossad in parallel. What s the probability of gelling at least one heads 7
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